Each of the boxes in the top block contains
a mathematical problem. Match a problem
in the top block with an answer in the bot-

tom block.

Then transfer the word of the matching
expression into the bottom box. When all
the boxes have been worked out you will

discover a startling fact.

3.21+2.06| 3.2+1.43 |432+1.21 |435+211 | 3.12 +1.11
THAT CAN TADPOLES| THEM WATER
3.21+2.01| 31+202| 3.2+4.02 | 52+6.02| 7.1+3.2
SO TOAD’S |POISONOUS AS OTHER
91+234 | 82+3.55 | 9.3+3.45 | 0.45+5.12| 5.89 + 2.23
TADPOLES| CANE THE BEING ARE
95+25 | 71+423 | 94+3.21 | 95+6.32 | 9.3 +5.21
NO SURVIVE TOAD SAME IN
11.75 12.61 5.53 8.12 5.22
7.22 5.27 12 10.3 5.12
11.44 4.63 11.33 5.57 14.51
12.75 15.82 4.23 11.22 6.46
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